Int. J. Open Problems Complex Analysis, Vol. 6, No. 1, March 2014 ISSN 2074-2827; Copyright ©ICSRS Publication, 2014 www.i-csrs.org

New classes containing

Sălăgean operator and Ruscheweyh derivative

Alina Alb Lupaş

Department of Mathematics and Computer Science University of Oradea str. Universitatii nr. 1, 410087 Oradea, Romania e-mail: dalb@uoradea.ro

Abstract

In this paper we introduce new classes containing the linear operator $RS^n_\alpha: \mathcal{A} \to \mathcal{A}, \ RS^n_\alpha f(z) = (1-\alpha)R^n f(z) + \alpha S^n f(z), \ z \in U$, where $R^n f(z)$ is the Ruscheweyh derivative, $S^n f(z)$ the Sălăgean operator and $\mathcal{A}_n = \{f \in \mathcal{H}(U): f(z) = z + a_{n+1}z^{n+1} + \dots, \ z \in U\}$ is the class of normalized analytic functions with $\mathcal{A}_1 = \mathcal{A}$. Characterization and other properties of these classes are studied.

Keywords: differential operator, distortion theorem. 2000 Mathematical Subject Classification: 30C45, 30A20, 34A40.

1 Introduction

Denote by U the unit disc of the complex plane, $U = \{z \in \mathbb{C} : |z| < 1\}$ and $\mathcal{H}(U)$ the space of holomorphic functions in U.

Let
$$\mathcal{A}_n = \{ f \in \mathcal{H}(U) : f(z) = z + a_{n+1}z^{n+1} + \dots, z \in U \}$$
 with $\mathcal{A}_1 = \mathcal{A}$.

Definition 1.1. (Sălăgean [7]) For $f \in \mathcal{A}$, $n \in \mathbb{N}$, the operator S^n is defined by $S^n : \mathcal{A} \to \mathcal{A}$,

$$S^{0}f(z) = f(z)$$

 $S^{1}f(z) = zf'(z), ...$
 $S^{n+1}f(z) = z(S^{n}f(z))', z \in U.$

34 Alina Alb Lupaş

Remark 1.2. If $f \in A$, $f(z) = z + \sum_{j=2}^{\infty} a_j z^j$, then $S^n f(z) = z + \sum_{j=2}^{\infty} j^n a_j z^j$, for $z \in U$.

Definition 1.3. (Ruscheweyh [6]) For $f \in \mathcal{A}$, $n \in \mathbb{N}$, the operator \mathbb{R}^n is defined by $\mathbb{R}^n : \mathcal{A} \to \mathcal{A}$,

$$R^{0} f(z) = f(z)$$

$$R^{1} f(z) = z f'(z), ...$$

$$(n+1) R^{n+1} f(z) = z (R^{n} f(z))' + n R^{n} f(z), z \in U.$$

Remark 1.4. If $f \in A$, $f(z) = z + \sum_{j=2}^{\infty} a_j z^j$, then $R^n f(z) = z + \sum_{j=2}^{\infty} \frac{(n+j-1)!}{n!(j-1)!} a_j z^j$, $z \in U$.

Definition 1.5. [1] Let $\gamma \geq 0$, $n \in \mathbb{N}$. Denote by L^n_{γ} the operator given by $L^n_{\gamma} : \mathcal{A} \to \mathcal{A}$,

$$L_{\gamma}^{n} f(z) = (1 - \gamma) R^{n} f(z) + \gamma S^{n} f(z), \qquad z \in U.$$

Remark 1.6. If $f \in \mathcal{A}$, $f(z) = z + \sum_{j=2}^{\infty} a_j z^j$, then $L^n_{\gamma} f(z) = z + \sum_{j=2}^{\infty} \left(\gamma j^n + (1 - \gamma) \frac{(n+j-1)!}{n!(j-1)!} \right) a_j z^j$, $z \in U$.

This operator was studied also in [2], [3], [4].

Definition 1.7. Let $f \in A$. Then f(z) is in the class $\mathcal{S}_{\lambda,\alpha}^n(\mu)$ if and only if

$$Re\left(\frac{z\left(L_{\gamma}^{n}f(z)\right)'}{L_{\gamma}^{n}f(z)}\right) > \mu, \ \ 0 \le \mu < 1, \ \ z \in U.$$

Definition 1.8. Let $f \in \mathcal{A}$. Then f(z) is in the class $\mathcal{C}_{\lambda,\alpha}^n(\mu)$ if and only if

$$Re\left(\frac{\left[z\left(L_{\gamma}^{n}f(z)\right)'\right]'}{\left(L_{\gamma}^{n}f(z)\right)'}\right) > \mu, \quad 0 \le \mu < 1, \quad z \in U.$$

We study the charaterization and distortion theorems, and other properties of these classes, following the paper of M. Darus and R. Ibrahim [5].

2 General properties of L^n_{γ}

In this section we study the characterization properties and distortion theorems for the function $f(z) \in \mathcal{A}$ to belong to the classes $\mathcal{S}_{\alpha}^{n}(\mu)$ and $\mathcal{C}_{\alpha}^{n}(\mu)$ by obtaining the coefficient bounds.

Theorem 2.1. Let $f \in A$. If

$$\sum_{j=2}^{\infty} (j-\mu) \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n! (j-1)!} \right\} |a_j| \le 1-\mu, \quad 0 \le \mu < 1, \quad (1)$$

then $f(z) \in \mathcal{S}_{\alpha}^{n}(\mu)$. The result (1) is sharp.

Proof Suppose that (1) holds. Since

$$1 - \mu \ge \sum_{j=2}^{\infty} (j - \mu) \left\{ \alpha j^n + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j| \ge$$

$$\mu \sum_{j=2}^{\infty} \left\{ \alpha j^n + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j| - \sum_{j=2}^{\infty} j \left\{ \alpha j^n + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j|$$
then this implies that
$$\frac{1 + \sum_{j=2}^{\infty} j \left\{ \alpha j^n + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j|}{1 + \sum_{j=2}^{\infty} \left\{ \alpha j^n + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j|} > \mu. \text{ So, we deduce that}$$

$$Re\left(\frac{z(L_{\gamma}^n f(z))'}{L_{\gamma}^n f(z)}\right) > \mu, \quad 0 \le \mu < 1, \quad z \in U. \text{ We have } f(z) \in \mathcal{S}_{\alpha}^n(\mu), \text{ which evidently completes the proof.}$$

The assertion (1) is sharp and the extremal function is given by $f(z) = z + \sum_{j=2}^{\infty} \frac{(1-\mu)}{(j-\mu)\left\{\alpha j^n + (1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}} z^j$.

Corollary 2.2. Let the hypotheses of Theorem 2.1 satisfy. Then

$$|a_j| \le \frac{1-\mu}{(j-\mu)\left\{\alpha j^n + (1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}}, \quad \forall \ j \ge 2.$$

Theorem 2.3. Let $f \in A$. If

$$\sum_{j=2}^{\infty} j(j-\mu) \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j| \le 1-\mu, \quad 0 \le \mu < 1, \quad (2)$$

then $f(z) \in \mathcal{C}^{n}_{\alpha}(\mu)$. The result (2) is sharp.

Proof Suppose that (2) holds. Since

$$1 - \mu \geq \sum_{j=2}^{\infty} j(j-\mu) \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j| \geq \\ \mu \sum_{j=2}^{\infty} j \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j| - \sum_{j=2}^{\infty} j^2 \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j|$$
 then this implies that
$$\frac{1 + \sum_{j=2}^{\infty} j^2 \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j|}{1 + \sum_{j=2}^{\infty} j \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j|} > \mu.$$
 So, we deduce that

$$Re\left(\frac{\left[z\left(L_{\gamma}^{n}f(z)\right)'\right]'}{\left(L_{\gamma}^{n}f(z)\right)'}\right) > \mu, \quad 0 \leq \mu < 1, \quad z \in U.$$
 We have $f(z) \in \mathcal{C}_{\alpha}^{n}(\mu)$, which evidently completes the proof.

The assertion (2) is sharp and the extremal function is given by $f(z) = z + \sum_{j=2}^{\infty} \frac{(1-\mu)}{j(j-\mu)\left\{\alpha j^n + (1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}} z^j$.

Corollary 2.4. Let the hypotheses of Theorem 2.3 be satisfied. Then

$$|a_j| \le \frac{1-\mu}{j(j-\mu)\left\{\alpha j^n + (1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}}, \quad \forall \ j \ge 2.$$

Also, we have the following inclusion results:

Theorem 2.5. Let $0 \le \mu_1 \le \mu_2 < 1$. Then $\mathcal{S}_{\alpha}^n(\mu_1) \supseteq \mathcal{S}_{\alpha}^n(\mu_2)$.

Proof By Theorem 2.1.

Theorem 2.6. Let $0 \le \mu_1 \le \mu_2 < 1$. Then $\mathcal{C}_{\alpha}^n(\mu_1) \supseteq \mathcal{C}_{\alpha}^n(\mu_2)$.

Proof By Theorem 2.3.

We introduce the following distortion theorems.

Theorem 2.7. Let the function $f \in A$ and

$$\sum_{j=2}^{\infty} (j-\mu) \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n! (j-1)!} \right\} |a_j| \le 1-\mu, \quad 0 \le \mu < 1.$$

Then for $z \in U$ and $0 \le \mu < 1$,

$$|L_{\gamma}^{n}f(z)| \ge |z| - \frac{1-\mu}{2-\mu}|z|^{2}$$

and

$$|L_{\gamma}^{n}f(z)| \le |z| + \frac{1-\mu}{2-\mu}|z|^{2}.$$

Proof By using Theorem 2.1, one can verify that

$$(2-\mu)\sum_{j=2}^{\infty}\left\{\alpha j^{n}+(1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}|a_{j}|\leq \sum_{j=2}^{\infty}(j-\mu)\left\{\alpha j^{n}+(1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}|a_{j}|\leq 1-\mu. \text{ Hence,}$$

$$\sum_{j=2}^{\infty}\left\{\alpha j^{n}+(1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}|a_{j}|\leq 1-\mu. \text{ We obtain}$$

$$\left|L_{\gamma}^{n}f(z)\right|=\left|z+\sum_{j=2}^{\infty}\left\{\alpha j^{n}+(1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}|a_{j}|\leq \frac{1-\mu}{2-\mu}. \text{ We obtain}$$

$$\left|L_{\gamma}^{n}f(z)\right|=\left|z+\sum_{j=2}^{\infty}\left\{\alpha j^{n}+(1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}|a_{j}|z|^{j}\leq |z|+\sum_{j=2}^{\infty}\left\{\alpha j^{n}+(1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}|a_{j}||z|^{2}\leq |z|+\frac{1-\mu}{2-\mu}|z|^{2}.$$
 The other assertion can be proved as follows
$$\left|L_{\gamma}^{n}f(z)\right|=\left|z+\sum_{j=2}^{\infty}\left\{\alpha j^{n}+(1-\alpha)\frac{(n+j-1)!}{n!(j-1)!}\right\}a_{j}z^{j}\right|\geq$$

$$|z| - \sum_{j=2}^{\infty} \left\{ \alpha j^n + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j| |z|^j \ge 1$$

$$|z| - \sum_{j=2}^{\infty} \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j| |z|^2 \ge |z| - \frac{1-\mu}{2-\mu} |z|^2$$
. This completes the proof.

Theorem 2.8. Let the function $f \in A$ and

$$\sum_{j=2}^{\infty} j(j-\mu) \left\{ \alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_j| \le 1-\mu, \quad 0 \le \mu < 1.$$

Then for $z \in U$ and $0 \le \mu < 1$,

$$|L_{\gamma}^{n}f(z)| \ge |z| - \frac{1-\mu}{2(2-\mu)}|z|^{2}$$

and

$$|L_{\gamma}^{n}f(z)| \le |z| + \frac{1-\mu}{2(2-\mu)}|z|^{2}.$$

Proof By using Theorem 2.3, one can verify that

$$2(2-\mu)\sum_{j=2}^{\infty} \left\{ \alpha j^{n} + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_{j}| \leq \sum_{j=2}^{\infty} j(j-\mu) \left\{ \alpha j^{n} + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_{j}| \leq 1-\mu. \text{ Hence,}$$

$$\sum_{j=2}^{\infty} \left\{ \alpha j^{n} + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_{j}| \leq \frac{1-\mu}{2(2-\mu)}. \text{ We obtain}$$

$$\left| L_{\gamma}^{n} f(z) \right| = \left| z + \sum_{j=2}^{\infty} \left\{ \alpha j^{n} + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_{j}| \right| |z|^{j} \leq |z| + \sum_{j=2}^{\infty} \left\{ \alpha j^{n} + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_{j}| |z|^{j} \leq |z| + \sum_{j=2}^{\infty} \left\{ \alpha j^{n} + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} |a_{j}| |z|^{2} \leq |z| + \frac{1-\mu}{2(2-\mu)} |z|^{2}.$$

The other assertion can be proved as follows

$$\begin{split} \left| L_{\gamma}^{n} f(z) \right| &= \left| z + \sum_{j=2}^{\infty} \left\{ \alpha j^{n} + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} a_{j} z^{j} \right| \geq \\ \left| z \right| - \sum_{j=2}^{\infty} \left\{ \alpha j^{n} + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} \left| a_{j} \right| \left| z \right|^{j} \geq \\ \left| z \right| - \sum_{j=2}^{\infty} \left\{ \alpha j^{n} + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} \left| a_{j} \right| \left| z \right|^{2} \geq \left| z \right| - \frac{1-\mu}{2(2-\mu)} \left| z \right|^{2}. \text{ This completes the proof.} \end{split}$$

Also, we have the following distortiin results.

Theorem 2.9. Let the hypotheses of Theorem 2.1 be satisfied. Then

$$|f(z)| \ge |z| - \frac{1-\mu}{(2-\mu)\left[\alpha 2^n + (1-\alpha)(n+1)\right]} |z|^2$$

and

$$|f(z)| \le |z| + \frac{1-\mu}{(2-\mu)[\alpha 2^n + (1-\alpha)(n+1)]} |z|^2.$$

Proof In virtue of Theorem 2.1, we have $(2 - \mu) \left[\alpha 2^n + (1 - \alpha)(n+1)\right] \sum_{j=2}^{\infty} |a_j| \le \sum_{j=2}^{\infty} (j - \mu) \left\{\alpha j^n + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!}\right\} |a_j| \le 1 - \mu$, thus,

Alina Alb Lupaş

 $\begin{array}{l} \sum_{j=2}^{\infty}|a_{j}|\leq\frac{1-\mu}{(2-\mu)[\alpha 2^{n}+(1-\alpha)(n+1)]}. \text{ We obtain }|f\left(z\right)|=\left|z+\sum_{j=2}^{\infty}a_{j}z^{j}\right|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_{j}z^{j}|\leq|z|+\sum_{j=2}^{\infty}a_$

In the same way we can get the following result.

Theorem 2.10. Let the hypotheses of Theorem 2.3 be satisfied. Then $(j - \mu) \left\{ \alpha j^n + (1 - \alpha) \frac{(n+j-1)!}{n!(j-1)!} \right\} \ge 0$ and $0 \le \mu < 1$ poses

$$|f(z)| \ge |z| - \frac{1-\mu}{2(2-\mu)[\alpha 2^n + (1-\alpha)(n+1)]}|z|^2$$

and

$$|f(z)| \le |z| + \frac{1-\mu}{2(2-\mu)[\alpha 2^n + (1-\alpha)(n+1)]} |z|^2.$$

Proof In virtue of Theorem 2.3, we have $2(2-\mu) \left[\alpha 2^n + (1-\alpha) (n+1)\right] \sum_{j=2}^{\infty} |a_j| \le \sum_{j=2}^{\infty} j(j-\mu) \left\{\alpha j^n + (1-\alpha) \frac{(n+j-1)!}{n!(j-1)!}\right\} |a_j| \le 1-\mu$, thus, $\sum_{j=2}^{\infty} |a_j| \le \frac{1-\mu}{2(2-\mu)[\alpha 2^n + (1-\alpha)(n+1)]}$. We obtain $|f(z)| = \left|z + \sum_{j=2}^{\infty} a_j z^j\right| \le |z| + \sum_{j=2}^{\infty} |a_j| |z|^2 \le |z| + \frac{1-\mu}{2(2-\mu)[\alpha 2^n + (1-\alpha)(n+1)]} |z|^2$. The other assertion can be proved as follows: $/|f(z)| = \left|z + \sum_{j=2}^{\infty} a_j z^j\right| \ge |z| - \sum_{j=2}^{\infty} |a_j| |z|^2 \ge |z| - \frac{1-\mu}{2(2-\mu)[\alpha 2^n + (1-\alpha)(n+1)]} |z|^2$. This completes the proof.

3 Open Problem

For the defined classes find distortion theorems, extreme points, closure theorems, neighborhoods and the radii of starlikeness, convexity and close-to-convexity of functions belonging to these classes. Use another differential operator and define and study the other classes of analytic functions using the definitions 1.7 and 1.8.

References

[1] A. Alb Lupaş, On special differential subordinations using Sălăgean and Ruscheweyh operators, Mathematical Inequalities and Applications, Volume 12, Issue 4, 2009, 781-790.

- [2] A. Alb Lupaş, On a certain subclass of analytic functions defined by Salagean and Ruscheweyh operators, Journal of Mathematics and Applications, No. 31, 2009, 67-76.
- [3] A. Alb Lupaş, D. Breaz, On special differential superordinations using Sălăgean and Ruscheweyh operators, Geometric Function Theory and Applications' 2010 (Proc. of International Symposium, Sofia, 27-31 August 2010), 98-103.
- [4] A. Alb Lupaş, Some differential subordinations using Ruscheweyh derivative and Sălăgean operator, Advances in Difference Equations.2013, 2013:150., DOI: 10.1186/1687-1847-2013-150.
- [5] M. Darus, R. Ibrahim, New classes containing generalization of differential operator, Applied Mathematical Sciences, Vol. 3, No. 51, 2009, 2507-2515.
- [6] St. Ruscheweyh, New criteria for univalent functions, Proc. Amet. Math. Soc., 49(1975), 109-115.
- [7] G. St. Sălăgean, Subclasses of univalent functions, Lecture Notes in Math., Springer Verlag, Berlin, 1013(1983), 362-372.